Best model for HELP J141406.121+515311.641 at z = 0.623 x2=10.37
OPTx2=14.15 IRy?=6.27 threshold (OPT IR)=12.98 [um]

102 E . Stellar attenuated
E S Stellar unattenuated
] : —— Dust emission
101 4 . f'fj\ —— AGN emission
5 : m
E : m = Model spectrum
] : m ® Model fluxes
100 i [ Observed fluxes
> ] : E
€ 1071 5 PN :
i .
< '.‘.‘:"' .W"wr"“ \i
> _ o
T 1072 4 :
10—3 .
1074 5
bad E
3 B
q_— 1 ]
= ] ==f=(Obs-Mod)/Obs
S 1 1
2 ] |
s ]
& ot--9=- o e B ettt
o ]
g ] 4
: |
& 10° 101 102 103 104

Observed wavelength [um]



